OtpuniatenbHbie IKCIOHEHTHI 10

1 x10=

5% 1002 =
11002 =
7% 1004 =
234,6+ 1000 =
~1x10=

103 =

100D =

614,4 x 1009 =

Jlatra:__ OueHka:
% 1003 =
—2x10° =
1003 =
173,5x 1079 =
258+ 100% =
601,3 x 1002 =
120, 7 x 100? =
4x1077 =
417,4 x 100 =

100 =
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OtpunaTenbHble KCIOHEHTHI 10

Uwvst: Jlata: __ Ouenka: ____
1077 = 0.1 2% 107 = -0.002
1x10=10 —2 x 10* = —200
5x 1072 =0.05 107 = 0.001
~1x 1072 = —0.01 173,5 % 107 = 0.01735
7% 107% = 0.0007 258 + 10% = 2580000
234,6+ 107" = 2346 601,3 x 1072 = 6.013
~1x10=-10 120,7 x 1072 = 1.207
107 = 0.001 4% 107 = 0.004
100D =0.1 417,4x 107> = 04174
614,4 x 107 = 0.06144 107 = 0.0001
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